A% B B HE R B R (105 2405 T 22 1)
F7 EMA_FRTF ~ L

R 28— P et EHg= EHw EHA
1
Wk
) (=F2) BB 2
(Rik= L 28 | (=F2)
Z 6-8 &)
ik
) (=¥ 7) B ES
(BHE= L, 2 8 (=FT)
= 6-8 #)
B
" (=¥ ) B S
(e pt= b 5 (=F2)
= 6-8 &)
R L3 ¥ ;
. TR R Al
5 | (B#=T.28 | @B BE i 5 R

(=F2)

= 2-4 )

T g3t R A
6 |Bs=F.2m| @WMG) BmE (=F )

= 2-4 )

Hek 3t
(RHk—TF. 2

7 : 3L 3L
= 2-4 &)
‘:“1‘ i kf\?ﬂ‘ga‘
(=F Q)
9
AR
P PTES-R S S lm*? R TTES-PErE .

H1
10/12/2016




A5 B R HE SR B ) & (1062 4 | 2 47)
F1 &MA_F&F ~ L

vk | - 2= 2= 2w EME
1

2 Bk ES ﬁ%é??%' B
3 A hER | BHGR ﬁ%i??%

) HaAsEn| BHEHE | HEAATR

(=2)

% B4 ET
5 TAREHE i 3(E) ®E BMGE) | (BAZT,E
R — 5~7 #)

- oA et
TiRE 2 05 _
6 BEE L gam By EWOE) | BA=T.E
#— 57 #h)
T iRH% B A ST | 15 % 08 4 3t
7 3 X (BR=_TF.E
(=%) 2 — 5~7 &)
. B ARE R
8 tx
(=¥%)
B ABE R
9
(=¥9)
saisdeme  [EEAY MR R R E

H1
10/12/2016




ShAG AR BRI R R (106 258 TF 2
F1ERA=FHKTFT ~ L

23— 2= 2ig= 28R
Sk
(=¥ 2) B H L
Bzt 28| (=FQ)
= 6-8 &)
R
(=¥ ) Bl 3 2
(¥ = 1. B 2 (=¥ 2)
= 6-8 )
WEE
(=¥ ) B 2
(BHEZ b B (=¥ Q)
= 6-8 &)
@ 3R(H) (4
M a8
(RBR=TF,| #EE(K) BE
2 #i w3 5~6)
M
(}'?‘ Pﬁﬁ k‘:‘—F9 P 3\(
E ¥vg 5~6) A
A .
(=F2) )
ARt BeuE %ﬁﬁ RREEBREHE
H1

10/12/2016




S0 A% B BRHE SR F] & (105 22 57F 2 81)
F1EMA=F%F ~ T

B R EH7— o E8= EHm E8A

Hosk 8
(B R=ZTF.%
R B 6~8)

H3E AR
(RRX=ZTF.E
# 7 6~8)

HaE A
(BER=TF.2
A 6~8)

e
5 |(RXR=TF.& | @A)
5 — 5~7 &)

BXET
6 |(BR=T,& @(&)
#7— 5~7 &)

2 XEs
7 | (RR=TF,Z
R — 5~7 &)

T HER

(=F2)

WHEER
(=¥ 2)

HER
9 (=¥ 2)

sgnslens  [HEETH MigEA R eHE

H1
10/12/2016




50 A5 B B HE 3R 05 Pl & (106 £ 55 £ 2 4A)
F71 BMA=ZFHTF - T

B R - = EH= EHm E¥A
]
Tk Bk R PE
) A RIE R MEMBRER JERE 5
B &R (=2)
PEMRIE A AR HE S
3 JE R JE R R B
(=2)
\
B MR T
4 Vi s
(=)
¥ 4%
5 @HE)
=L 39 2
N ui—‘lj‘l}_ﬂﬂﬂﬁ i 4?%%&?%
6 @A) (R#FRZT,
E#m 7~9 )
e B R IE 2
AREE ) rmen
[ (RBAZTFL_my
ZHm 79 )
- PE AR IR L
P WA
(¥ ED _ ERE®
8 (B3 x =T "0
2 ¥ 7~9 &) -
ok AR 3
JEHRIEE
9 5
AL REME -%ﬁﬁ REEEEEHE
"I

10/12/2016




5 4% B B HE 3R 0T ) & (106 22 T 2 51)
F71 BMA=_FKF ~ T

B R E Hp— EH— EHg= EHwm E8E
1

2 WE RS
(=7 2)

3 BEA %
(=¥ 2)

BIEAB
4 (=¥ 2)

: @R ()
6 ()
f2XET
7 (}fic":}-ﬂ‘j”\__:_—f:&
#]— 5~7)
i
| (BHARZT.2
#g — 5~7)
A3 3F
}_E.‘
9 N
j W
T
[ VI A0 M,g;;\
EEE R
wmmsdens U CE TSP i3 o2

"1
10/12/2016




